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Attempt all questions.
Marks are indicated against each question.
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In each question, attempt only two parts either (a)
and (b) or (c) and (d).
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1. (@ Compare monopoly with pure competition
with regard to the following :

(i) Price
(it) Output
(iii) Loss in welfare 7
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(b)

Derive the rule of thumb for pricing under
monopoly. Explain how a zero cost firm
will determine its profit maximizing output.
Use suitable diagram. 7%
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OR/zeran

What is a multiplant firm ? How is it able to
1

maximize its profits ? 7

What is meant by Monopoly power ? How
can the Leamer index of monopoly power
be used to measure it ? 7
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(a)

(b)

In a duopolist market two firms can
produce at a constant average and marginal
cost of AC = MC = 2. They face the market
demand curve P = 14 - (Q, where
Q=Q, + Q,, where Q, is the output of firm

1 Q, is the output of firm 2.
In the Cournot’s model : '

(1) Find action reaction functions of the
two firms.

(i) Calculate the profit - maximizing
equilibrium price and outpult.

(ii1) What are the profits of the two firms ?

(iv) Compare it with competitive
equilibrium.

Explain price rigidity in oligopolistic

markets, with the help of kinked demand

curve model.
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(d)
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Why has OPEC oil cartel succeeded 1n

raising prices substantially while the CIPEC

copper cartel has not ? What conditions are

necessary for the success of a cartel 7

What is prisoners dilemma ? How can it be
used to explain the behaviour of firms in

oligopolistic industries ?
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An individval has two investrnent
opportunities each involving an outlay of $
1,000. The possible eamings from each
investment and their respective probabilities
are given below :

~ InvestmentI| Investment Il

Earnings 15400 $600 | 5300 $500 § 700

Probability [0.6 0.4 04 03 03
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(i)  Calculate the expected earnings of each

investment.
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(b)

(i) Calculate the standard deviation of
each investment.

(iii) Determine which of the two
investments the individual should

choose, if he is risk averse.

Explamn Baumol’s sales maximization mode]
with the help of a diagram.
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Assuming that different individuals have
different preferences towards risk, explain
with the help of total utility of money curve
that marginal utility of money will diminish
for nisk averters and will increase for risk
lovers.
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(d)

(a)

(b)

What are the characteristics of monopolistic
competition ? A firm under monopolistic
competition can eamn super normal profits in
the short run but not in the long run. Explain
with the help of diagrams.
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Distinguish between the concepts of VMP;
(Value of Marginal Product) and MRP_

(Marginal Revenue Product). Which curve
represents the demand curve for the
variable _}inpu‘t., when there is perfect
competition in both input and commodity
markets ? Explain with diagram.

How .is price and employment of an input
determined under Monopsony, when one
variable input is used ? |
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How is equilibium employment of a variable
mput determuned, when there is perfect
competition in input market but monopoly in
commodity market ?

Define economic rent, How much of actual
earnings of owners of an input, is rent ?
Explain with the help of diagrams when :

(1) A factor eams only rent.

(ii) A factor eams oniy transfer eamings.

'(ifi) Part of the camings is rent and a part is

transfer earnings.
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(3

(b)
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(d)

State and explain the three conditions that
must be fulfilled for the allocation of
resources to be efficient.

What are external costs and benefits ? How
can the presence of external costs lead to the

failure of competitive market ?
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With the help of Edgeworth box diagram for
production, explain general equilibrium of
production. What does production contract
curve indicate 7

What are public goods ? What problems does
it give rise to ? How will the efficient output
of a public good be derived ?
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